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modeO | True

location clk > 0 location clk > 0

Tocation EVt — location Evt

5 clocks

switch switch 1 sensor clk
timer switch switch 1
clk runln turnOffSwitch
app clk
location clk

1 parameter

5 discrete

minutesLater 3

app
location

switch switch 1
trigger turnOffSwitch
delta

Initial

minutesLater 3 >0
& switch switch 1 sensor clk =0
& clk runln turnOffSwitch = 0
& timer switch switch 1 =0

location := I, location clk := 0; location := 0; location clk := 0;

app Env

l

(modeO

True\
/

app clk > 0 app clk > 0
app Evt app Evt

app := 1; app clk:=0; app :=0; app clk:= 0;

switch switch 1 sensor clk > 0
switch switch 1 BigTurnON1 0

switch switch Dev 1

l

(modeO

True]

switch switch 1 sensor clk > 0% switch switch 1 sensor clk > 0
switch switch Evt 1
switch switch 1 := 97;

(model

True\

switch switch 1 sensor clk > 0 . 1. .
switch switch 1 BigTurnONO O /switch switch 1 automata 3 turnOffSwitch 0

mode?2
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True

switch switch Evt 1 location Evt

switch switch 1 := 96;

switch switch 1 sensor clk > 0

BigTurnONO

l

mode0 True). _____ o

location > 0
switch switch 1 BigTurnONO
switch switch 1 := 97;

mode1l Truej o

switch switch Evt 1

0 ‘location <=0

(modeO

app Evt

BigTurnON1

l

app > 0
switch switch 1 BigTurnON1 0
switch switch 1 := 97;

[U

model

Tru ej

‘app <=0

automata 3 turnOffSwitch

l

modeO | True

runln turnOffSwitch sync
clk runln turnOffSwitch := 0;

(model

60*minutesLater 3 >= clk_runIn_turnOffSwitch]

clk runIn turnOffSwitch >= 60*minutesLater 3
switch switch 1 automata 3 turnOffSwitch 0
switch switch 1 := 96; trigger turnOffSwitch := O;

PowerAllowance0O

l

- _'(modeO True

switch switch Evt 1 ;' switch switch 1 <97 switch switch 1 > 97

model True]

switch switch 1 = 97

B TU mode?2 Truej o

timer switch switch 1 >= delta

4

trigger turnOffSwitch = 0
runln turnOffSwitch sync
trigger turnOffSwitch := 1;

(conﬂict

Tru e]

switch on deadline switch

l

{modeO Truﬁq _________

switch switch 1 BigTurnONO O / switch switch 1 BigTurnON1 O | switch switch 1 automata 3 turnOffSwitch 0 | switch switch Evt 1 ',switch_switch_l < 97 :switch_switch_l > 97 ‘_

irigger_turnOffSwitch =1

badstate

delta > timer switch switch 1
switch switch 1 BigTurnONO 0O

True ke===""7:::::::°°°
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switch switch 1 = 97

. timer switch switch 1 := 0;

Y
S [modeZ True}

delta > timer switch switch 1
switch switch 1 BigTurnON1 0O

delta > timer switch switch 1

el
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delta > timer switch switch 1 -

switch switch 1 automata 3 turnOffSwitch 0

switch switch Evt 1

mode3

switch switch 1 < 97 ‘switch switch 1 > 97

-~ switch switch 1 = 97 PR ’



